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Overcurrent Trip (DCPS)
- Auctioneered Data (@idl)

TT
lllllllllllllll

F Condijtioned Data (DCPS), Limits: [-

-4 -2 0 2 4
time

(o]

—FuII Actlon (DCPS) L|m|t = 1100 OOOO Max 1457 8671 End VaI 1457 1573—
™ Action (idl), Max = 1457.20, End Val.= 1457.20
i [ Full Action (idl), Limit = 1100.00, Max.=1457.91, End/al. 1457.20

. Shot #: 2600, Param Tree: 72 - _ _ _ _ _ _ _ _ /|
—Fault Time: 2.4858784

: Faults (L1) [AT,DT]: [0.400400, 0.390145]

time

E DL, éircular, [-24.19834, 0.0079£3387]

DCPS, Circular, [-24.983405, 0.0079838680]
IDL, Shaped [Displaced], [-24.9838, 0.00778222]

DCPS, Shaped [Displaced], [-24.983755, 0.0077822177]
Shot #: 2600, Param Tree: 72
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